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12® @ [Windows PowerShell (4 | wsl —install wsl --install
)
include_pos = ('NOUN', 'VERB', 'ADJ') + ('PROPN', 'ADV') | include_pos = ((NOUN', 'PROPN', 'VERB', 'ADJ")
Tur7 750 AM64 stopwords = ("9 %", '® D", "R LN, 'WH LB D T L KD | stopwords = (9 S, B A, LY, WS b Dl T RS
analyze_cooccurrency_miyajima.py |, "4 %" "1Z2")+ (W15, '< 5" 17" "B 5 NED, WAL KRB D ER T EELED, WL
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TursI7 L) A ~64 count_model = token_pattern=f\\b\\Ww{token_length}\\b'
analyze_cooccurrency_miyajima.py | CountVectorizer(token_pattern=f\\b\\w{token_length}\\b") count_model = CountVectorizer(token_pattern=token_pattern)
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a7 LY A 64 weight_cutoff = 0.05 G = create_network(words, word_counts, Xc, 0.015)
114 | analyze_cooccurrency_miyajima.py | G = create_network(words, word_counts, Xc,
94 1T H weight_cutoff)
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do_ner3.py
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count_food1l.py
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if ent.label_ == 'Dish’ or ent.label_ == 'Food_other"

if ent.label_ == 'Dish":

122

a7 AU A R6.10
count_food2.py
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if ent.label_ == 'Dish’' or ent.label_ == 'Food_other":

if ent.label_ == 'Dish":

123 | count_food2.py
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123 | count_food2.py
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stopwords = ("9 5", '® 5", '"EW, W2 'H D, ' KD | stopwords = (T A, B A, e, WD B 'L KD
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130 ERS df = df.dropna(subset=['#&1T D kF£H1)
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analyze_cooccurrency_themepark.py
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from_date = pd.to_datetime("2014-04")
to_date = pd.to_datetime("2019-03")
df = dff(df[' & 1T D KFER'] >= from_date) & (df['71T D KFER"

<= to_date)]

# IRATORSZEEICEL, [FE] EWH>EBZEM
dif £ = di 1T D BFEA".apply(lambda x: x.year if x.month

>= 4 else x.year-1)

# RITORFEA AT
df = dff(dff ] >= 2014) & (A EE"] <= 2018)]
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a7 LAY A N 6.13 weight_cutoff = 0.02 G = create_network(words, word_counts, Xc, 0.020)
131 | analyze_cooccurrency_themepark.py | G = create_network(words, word_counts, Xc,

26-271T H weight_cutoff)
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177 | 2ch_daily_emotions.py
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